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QUESTION 1

Why is business and IT alignment so important to SOA? 

A. Applications can be rewritten to suit the needs of the business. 

B. It allows for a significant investment in technology and hardware. 

C. Business and IT can collectively fulfill the business needs and goals. 

D. Business and IT can decide which vendors to use and which business functions to outsource. 

Correct Answer: C 

 

QUESTION 2

What is a role of an Enterprise Service Bus (ESB) in SOA management? 

A. To provide the governance of services by limiting who can access services 

B. To provide point-to-point connection of service consumers and service providers 

C. To provide flexibility that allows business process inefficiencies to be rapidly corrected 

D. To ensure a seamless flow of information from anywhere at any time using a variety of protocols 

Correct Answer: C 

 

QUESTION 3

How are the capabilities of a Web 2.0 application enhanced by SOA? 

A. Two or more SOA services may be connected together to create a new business process, such as in the case of a
mashup. 

B. Business users can visually assemble mashups by blending publicly available information and services with a
company\\'s internal information and services. 

C. Syndication of site content is enabled through the use of SOA, since it involves standardized protocols, which permit
end-users to make use of a site\\'s data in another context. 

D. The community that uses the SOA services can employ community mechanisms on the application, such as ratings
and comments, to provide feedback so the application can be E. 

Correct Answer: B 

 

QUESTION 4

Which specifications are central to Web services? 
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A. WSDL and XML 

B. ESB and WS-Policy 

C. XML and XML Schema 

D. SOAP, WSDL and HTTP 

Correct Answer: A 

 

QUESTION 5

How can disparate services communicate with each other in an SOA? 

A. Use XML messages to provide interoperability. 

B. Service providers adopt one common data model for all services. 

C. Enforce a common data model at the Enterprise Service Bus (ESB) layer. 

D. Business analysts create the integration logic details to negotiate between services. 

Correct Answer: A 
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